ITI Surveyor 1st year Moudle 3 Chain Surveying

(1). What is the formula of obstructed distance of AB? AC is perpendicular to AB.
AC and BC are known distance. | AB @1 3a%&G g1l BT G T BT 8?2 AC, AB TR
dead g1 Ac 3R BC I A &1

C

(A)

AB=+BC*+ AC?

(B)

AB=+BC*- AC?

(C) AB=BC?-AC?
(D) AB =BC2+ AC?

Correct Answer : B

(2). What is an example for obstacles to ranging? | AT H 3ffadcdhd Udh
RIATRUES]

(A) Pond | dlcild
(B) River | Bl



(C) Thick jungle | O9T STA

(D) Level ground | HHA UT3-S

Correct Answer : C

(3). Which line should be drawn first while plotting? | AT HId THT &

Ugd SI At T Wit =ey?
(A) Tie line | TS TS

(B) Base line | 3HUR 3T

(C) Chain line | T4 @IS

(D) Check line | T TS

Correct Answer : B

(4). When is a single line field book used in survey work? | gde&mr s § RiTa
TR BIcs g BT SUINT Hd [hdT STl g2

(A) Ordinary work | HI¥RU[ h[H
(B) Precision work | Tlh B

(C) Small scale work | BIc TR BT HH

(D) Large scale survey with detailed work | ﬁﬂa?rwq% mua%’ﬁﬂﬁu?
A&

Correct Answer : D

(5). What is the reference made in the field book at the beginning of the survey? |

A& DT LHHTT | ics g | F1 JaH fear mar g2
(A) Align the chain |a:[ﬂi'@ﬁﬁ



(B) Name of the line | 3@ BT AH

(C) Setup theinstrument | 5%%J:IC T P
(D) Measuring the distance | ﬁ@-‘ﬂq:ﬂ

Correct Answer : B

(6). What is the size of a chain survey field book? | I Id i g bl HIPR
T g?

(A) 12cm x 10cm
(B) 12cm x 15cm
(C) 12cm x 20cm
(D) 12cm x 25cm

Correct Answer : C

(7). What material is used to make handle of a metric chain? | m %1@?”%

g0 99 & fort fr arht &1 JuanT fsar A 82
(A) Iron | TG

(B) Brass | Uidd

(C) Nickel | Fepa

(D) Copper | dIdT

Correct Answer : B

(8). Which instrument is used for transferring the points to the ground while

chaining on a sloping ground? | Waﬁrwﬂqwﬁﬁﬂmﬁwﬁg&ﬁﬁ
STH TR RIFTART HRA & oIE fore Suaur &1 ST favd SiTaT 82

(A) Arrows | Qﬁ




(B) Plumb bob | &id did
(C) Steel band | Tads
(D) Wooden peg | Q@qaﬂ

Correct Answer : B

(9). Where the changes are entered in a field book? | qﬂ?&’@ﬁqﬁﬂ?&fw
&of fohU oI &2

(A) Tie line | A3 H WS 81 91T
(B) Main line | {91 @181
(C) Base line | 3R I@T
(D) Chain line | T @S

Correct Answer : D

(10). What type of errors occur due to faulty adjustments of a chain? | fdi ==

& g0l THTESH & HRU {6 UHR &1 Ffedi 8idi 82
(A) Natural errors | UTohicidb Ffcdi

(B) Personal errors | STaaTd Ffcdl

(C) Systematic error | RIRe H Ffe

(D) Instrumental errors | SUPHRUI DI Ffcdi

Correct Answer : D

(11). What is an example for obstacles to chaining? | T H SHaacHd Uch
REARR K

(A) Hill | TgTS!



(B) Pond | dIdild
(C) Thick jungle | O9T STA

(D) Level ground | HHd UT3-S

Correct Answer : B

(12). What is the name of the book in that measurement, sketches, notes are
recorded for future reference? | 3 HIU H YIddp bl —1H H] %, WTI%H, qre

yiawr H Hay & ferg gsi fbg e 82
(A) Note book | THRUIYIdh

(B) Field book | TItS §b

(C) Record book | W%@EE

(D) Reference book | “v'l?{ﬂ-fw

Correct Answer : B

(13). What term is used to indicate lateral measurement taken from a chain line?

| S s ¥ forw 7T uref A19A Y 3 A o ot for wrsg o1 Iuan fhar
ST 82

(A) Scale | Thd

(B) Offsets | 3MThUC

(C) Tie line | TT8 A3
(D) Check line | T TS

Correct Answer : B

(14). Which direction the recorder should move? | Replex fhyg fam ﬁaﬂ_"ﬂ

1faq?



(A) Angular direction of chaining | aﬁﬂﬁﬁﬁvﬂuﬁm

(B) Forward direction of chaining | &nﬁﬁ%‘maﬁﬂv

(C) Leeward direction of chaining | Gﬁﬂﬁﬁm

(D) Backward direction of chaining | tﬂmmﬁﬁtﬂ%ﬁ%m

Correct Answer : B

(15). What type of scale is used for plotting offset? | mm%mm
THR & UHH BT YA fordT STl 872

(A) Plain scale | JT&T UHT

(B) Offset scale | 3THIC AN
(C) Vernier scale | A<= THMT
(D) Diagonal scale | fa@ Ul UHTT

Correct Answer : B

(16). Which is the place for plotting should be drawn in drawing sheet? | SAIQ"I

e A @A & AW dH ATRIF &2
(A) Top of the sheet | Tfic & HWR

(B) Side of the sheet | Rfic & fbR

(C) Centre of the sheet | Xt & Hg

(D) Bottom of the sheet | Rilc & A

Correct Answer : C

(17). What formula is used to find the area by a planimeter? | Tdh AR gRT
& &1 Wiv & oI for G o1 SuanT fosan ST 82



(A) M(F.R-.LR+10N-C)
(B) M(F.R+.R+10N-C)
(C) M(F.R-LR+10N +C)
(D) M(F.R-I.R + N +C)

Correct Answer : C

(18). What is an offset measured other than at right angles to the chain line? | ERl

TS TR HDIUT o ST fob il 3= b1 HIUT 7T SHTB T T 62
(A) Long offset | FI%T 3HC

(B) Short offset | ¢ HTHIC

(C) Oblique offset | 3fedd e

(D) Perpendicular offset | dgad imdc

Correct Answer : C

(19). What line is represented as space between two red lines in the field book? |

Pics % H ¢l AT 131 & ofid D1 5718 B! fhy 11 & 70 § I T g?
(A) Offset line | 3THYC ATSH

(B) Chain line | T @81

(C) Object line | T X

(D) Survey line | Td A3

Correct Answer : B

(20). Which is the place for north direction represented in the drawing sheet? |

s efie A ueRid SR fcan & il s W wME 82



(A) Top of the drawing sheet | WW%W

(B) Bottom of the drawing sheet | @?T?ﬂ_é%:ﬂ%[

(C) Left side of the drawing sheet | @?T@?%E’I’sc 3R
(D) Right side of the drawing sheet | W@E%Eﬂé 3R

Correct Answer : A

(21). What is the area of triangle ACD? AD=30m ; CD=25m. | ”ﬁ'ﬂ\_ﬂ ACD [
&S T 8?2 AD =30 m ; CD = 25 m.

30 jaz 30
D

T
1

|

(A) 370 m?
(B) 375 m?
(C) 380 m?
(D) 385 m?2

Correct Answer : B



(22). What is the name of scale labelled as ‘x’? | Thd b AH Bl X’ %Wﬁw
ST 82

X

AR A AN A A A A Ll

(A) Plain scale | Tl ¥hdl

(B) Offset scale | 3HhICT Ihdl
(C) Vernier scale | Af-GR GHMT
(D) Diagonal scale | fa@ Ul UHTT

Correct Answer : B

(23). What is the name of operation to indicate the measuring distance between

two points with the help of chain or tape? | %Wﬁﬁ%@ﬁﬁgﬁ%@ﬂ
B! g B ST A & 1T TR HTAH R 7?2

(A) Chaining | IfHT
(B) Offsetting | SHAET



(C) Surveying | ﬂﬁ?ﬂ
(D) Measuring | TSI

Correct Answer : A

(24). How many centimeter is considered for one walking steps of a man for

pacing method of measuring distance? | @ﬁWﬁW%WW 3TeH!
& e & IRON & ToTY fara ASTHIeR AT ST 82

(A) 70cm
(B) 80cm
(C) 90 cm
(D) 100 cm

Correct Answer : B

(25). Find the area, if the following readings are taken by planimeter. IR = 4.855 ;
FR = 8.754 ; M = 100 cm?? | “&3 &1 Udl &Y, 3R fRgfafad e wfer

mf‘ﬂﬂ_ﬁcél IR =4.855 ; FR=8.754 ; M = 100cm??
(A) 389.9 cm?
(B) 379.9 cm?
(C) 369.9 cm?
(D) 359.9 cm?

Correct Answer : A



